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L 2t 1 2 B < 1 2o
Tus—(3r) / Section (A)

1, (i) 12 3R 16 &1 oY 3R 7EY FT BT ? 1
@) 72 3R 4 (@) 48 3R 4 (d) 96 3R 12 (T) 36 3R 6
Find the LCM and HCF of 12 and 16 ?
(@) 72and 4 (b) 48 and 4 (c)96and 12 (d) 36 and 6
(ii) agug X2 -7x+10 ¥ 3=Ia! &1 AT &N T 2 1
@) 10 @) —7 ) 7 (g) —0
Sum of zeroes in Polynomial x*-7x+10 is ?
(@ 10 (b) -7 (7 (d) -10
(iii) fag P(xy) @1 7 fag & 0 2 — 1

(@) /x2 + y? (@) /x2 — y? @) Jx+y @ Jx—y

the distance of a point P(x, y) from the origin is -

@ Vx?+y? (b) yx* — y? ©Jx+y d)yx—y

(iv) wfra=or g7 2X + 3y =57 4x + 6y = 7 gRT 6fid v@g enft | 1

(@) TF fig W uese ol € | (@) 9= € | (@) Furdl € | (@) 3 ¥ B T |

the lines representing the following pairs of linear equations 2x + 3y=5and 4x + 6y = 7 are —

(@) intersect at a point (b) parallel (c) coincident (d) None of these

(v) feara wfi@xor ax’ + bx + ¢ =0,a# 0% af b?—4ac < 0 & dr 9 & — 1

@ arafae 7 M=E-A=(d) aRdfde T TE = @) 13 aRafdds T8 (@) T A DI T

A quadratic equation ax® + bx + ¢ = 0, a# 0 have roots if b — 4ac < 0

(a) Real and different (b) Real and same (c) No real (d) None of these

(Vi)A.P.:2,7,12, ... 10df Ug BRI | 1

(1) 48 @) 52 (9) 54 (?) 47

the 10th term of the given A.P.: 2, 7,12, ...1is

() 48 (b) 52 (c) 54 (d) 47

(vii) sin 60° cos 30° + sin 30° cos 60° T A &R | 1

(@) o @) 1 ) 2 @3

(viil) gq R Rera AT 95 ¥ g W el W 94918 57 Hanll § — 1

(af) 3t @ < (%) Paet TE () B 0 &l

How many tangents draw to a circle at a point lying on the circle

(@) Infinite (b) Two (c) Only one (d) No anyone

(ix) 14 3. @ a1l gd @1 aREY BRf — 1

(31) 44 T (@) 88 . () 22 &I (3) 21 .

The Perimeter of a circle of 14 cm daiameter will be —

(@) 44 cm (b) 88 cm (c) 22cm (d) 21cm

(X) ¥ & o1 BT AFAT AT B BT G & | 1

@ smh(?+13)  @3mhi+ri4nr) @) 3n@i+rd) @ 3mh(r 1)

Formula of Find the volume of a frustum of a cone is —
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(a) %nh(rf +13) (b) %ﬂh(rlz +1r3+rry) (0 %n(r% +12) (d) %”h(ﬁ +r1y)

(xi) arf@er 2, 6, 4,5,0,2,1,3,2, 3% agad 2 | 1
(1) 3 @) 1 @) 2 ) 4

Find the Mode of Data 2, 6,4,5,0,2,1, 3,2, 3

(a) 3 (b) 1 (c) 2 (d) 4

(Xii) T® U BT IBT W FH AT 3 B WfiHar Rl | 1
OF @ 3 OF OF

Find the probability of getting even number from draw a dise
1

@ 5 ) 3 © = o 3

3

(i) we= %7 BT GIFAT TN oo g | (T / 3rd) 1

Number %7 will have .................. decimal expansion. (Terminating / Non terminating)

(i) = T o B 2 | (WAt [/ ) 1
All Square are ................... (Congruent / Similar)

(iii) 9 sec?30° — 9 tan®30° &1 A ... BT | 1
Value of 9 sec?30° — 9 tan?30°is ..................

(iv) 9T @1 <1 fawgell W ufoeee FRe arel X@T B ... HEJ 2| (P @1 / w9l @) 1
A line intersecting a circle in two points is called a ..................... (Secant / Tangent)

(V) 3t 5, 3, 8, 4, 2 BT AAD ..o BT | 1
Value of The Meadian of Data 5, 3, 8,4, 21S ...ccccccvrvnene

(vi) me=r E &1 wirear e 'EFEl @ UTRIESAT = s g | 1
Probability of an event E + Probability of the event ‘not E> = ......................

(i) &7 =R arer YRgwd TR g Kx+3y = 2 @2 2x+6y = 3 &1 #8981 & af K &7 919 51 $iforg (1
The pair of Linear equation in two variable Kx + 3y = 2 and 2x + 6y = 3 have no any solutions, Find K.

(ii) Fara wfewor X2 - 2v/3x + 3= 0% o o AR | 1
Find the roots of the quadratic equation x* - 2v3x + 3 = 0.
(i) TR AT 21, 18, 15, P PITAT UG —81 & ? 1

Which term of the AP : 21, 18, 15, . . . is — 81?

(iv) a2 AABC ~A DEF # 3R 3% &ahdl %99 64 Cm°aiik 121 cm? & g@em EF = 154 cmer @ BC=21
If A ABC ~ A DEF and their areas be, respectively, 64 cm2 and 121 cm2 . If EF = 15.4 cm, find BC.
(v) afs 15 cot A =8 = ar sin A 3R sec A &1 A9 S ST | 1
Given 15 cot A = 8, find sin A and sec A.

(vi) MR & MR ¥ 15 0. R Rerd Uar g 9 RRER &7 S99 3107 607 & A1 MR @1 Sa18 3ma aiforg | 1
From a point 15 cm away from the base of the tower, the angle of elevation of the top is 60°, then find
the height of the tower.

(vii) afgtan A = cot B, ar g s f5 A + B = 90° 1
If tan A = cot B, prove that A + B =90°.
(viii) (1+tan?A).cos’A &1 7 ST FIRTT | 1

Find the value of (1+tan’A).cos*A

(IX)Th A A | ST (S g0 & &g 9 5 §HL g0 W 8, I TR W &1 & 18 4 1L B |

g D1 FBrsar = I | 1
The length of a tangent from a point A at distance 5 cm from the centre of the circle is 4 cm. Find the
radius of the circle.

(X) 7.8 ¥ &7 YErETS Wifay qUT 39 5 : 8 U H fIRTT BIRTG T < AR B A | 1

Draw a line segment of a length 7.8 cm and the devide into the ratio 5:8, mesure the two parts.
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10.

11.

12.

13.

14.

(xi) 121 cm dTel 9 &1 U@ AU S5 U= 60° BT HIVT ARG BT 8 AT a9 R §91¢ T HRE@Ue Bl 7%
EINEEAIS
In a circle of radius 21 cm, an arc subtends an angle of 60° at the centre. Find area of the sector formed

by the arc 1
(xii) T a9 # 3 e, 2 UGS R 4 A Fd 2| I 39 I H 9 Yb HAT AT MBIl Sar & ar 3dD)
T wifydar ® & u' w1 () Juwe 27 (b) e 27 1

A box contains 3 blue, 2 white, and 4 red marbles. If a marble is drawn at random from the box, what is
the probability that it will be (a) white? (b) blue?
g (d) /Section-B

4052 3R 12576 H1 HCF Jfdere faqre TeniiReA &1 YART @xeh S1d HIfom | 2
Use Euclid’s algorithm to find the HCF of 4052 and 12576.

Ud g 9gus S HIfiy, [ Il BT INT TAT T0UHhS HHRE —3 3R 2 8 | 2
Find a quadratic polynomial, the sum and product of whose zeroes are — 3 and 2, respectively.

WY Q1 e I BT, R ART 27 81 3fR TUHuhe 182 B | 2

Find two numbers whose sum is 27 and product is 182.

afg fa=g A(6, 1), B(8, 2), C(9, 4) IR D(p, 3) U WHIcR gl & Y g4l 9 ¥ 8, Al p BT A9 SI1d DI | 2

If the points A(6, 1), B(8, 2), C(9, 4) and D(p, 3) are the vertices of a parallelogram, taken in order,
find the value of p.

TH AR & Ue—fag & U% Wad & RRER &7 S99 BIvr 30° B iR 9a9 & Ure—favg 9 AR & ReR & 2
I BT 60° B | AT AR 50 H. S &, A1 daT B Sag M B |

The angle of elevation of the top of a building from the foot of the tower is 30° and the angle of
elevation of the top of the tower from the foot of the building is 60°. If the tower is 50 m high,

find the height of the building.

4 cm, 5 cm 3R 6 cm YoTail arel T ST &1 Iae1 IR 3R R s F9Ry T 3= F2r[sT @1 Yo HIf,

WWW@%&G@WWﬁaﬁéTﬁ@ 2

Construct a triangle of sides 4 cm, 5 cm and 6 cm and then a triangle similar to it whose sides are % of

the corresponding sides of the first triangle.

5cm 35 & ue g WR Ul & Wl @Y iy, S UReR 60° @ BT R gl B | 2
Draw a pair of tangents to a circle of radius 5 cm which are inclined to each other at an angle of 60°.
afe g I9wY Rl @ eawd weR & o g #ifeie fF 9 BSrpe watras 8 2 | 2

If the areas of two similar triangles are equal, prove that they are congruent.

31 gl @1 B pEe 19 cm iR 9 em €| 99 g7 @1 e 9 e forde uRfY 9 gM g9t 1 2

RISl & IRT & aRIER 2|

The radii of two circles are 19 cm and 9 cm respectively. Find the radius of the circle which has

circumference equal to the sum of the circumferences of the two circles.

AL 6 CM, 8 CM 3IR 10 cmM FZ<umsil aret &g & 19 31 Il Bl TR UF a7 314 el I

T 2 | 39 el 3 oar gmd aifr | 2

Metallic spheres of radii 6 cm, 8 cm and 10 cm, respectively, are melted to form a single solid sphere.

Find the radius of the resulting sphere.

DS TG TP 9o & AMBR &1 8 9 R U e aRIfug 2| I JaHR A1 @ $a78 iR S dHe:

21m3R4 m g e g o e SaE 2.8 M © O 39 dg B 99 H UIa HIdE BT STBA

ST AT | |1 & % 500 TR M? & o) ¥ 3 U DA D AN S1d DI | (& Y

Y @ IMIR BT Har | el Gl ol 2 ) 2

A tent is in the shape of a cylinder surmounted by a conical top. If the height and diameter of the

cylindrical part are 2.1 m and 4 m respectively, and the slant height of the top is 2.8 m, find the area of
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15.

16.

17.

18.

19.

20.

21.

22.

23.

the canvas used for making the tent. Also, find the cost of the canvas of the tent at the rate of <=500 per
m? . (Note that the base of the tent will not be covered with canvas.)

7 IRFIRAT §e1 &1 98D F1d DI | 2
gRar |rg (Family Size) 1-3 3-5 5-7 7-9 9-11
gRari @1 dw@r (No. of families) 7 8 2 2 1

Find the Median of the following frequency distribution.
Ud Heldl U 3R U Tl U &l b 1T Hepl ol & | a1 |rfad gkl ol faRaw | st @ uifidar 2
g f <1 et 91 Aerett @1 AT (i) 8 87 (i) 12 9 B A1 SHD RGO &7

Two dice, one blue and one grey, are thrown at the same time. Write down all the possible
outcomes. What is the probability that the sum of the two numbers appearing on the top of the

dice is (i) 8? (ii) less than or equal to 12?

s (") /Section-C

I9 AP. & Yo 22 yai &1 AT s1a Siforg, forad d = 7 & @ik 2247 ug 149 2| 3
Find the sum of first 22 terms of an AP in which d =7 and 22nd term is 149.
it (0, —1), (2, 1)=iR (0, 3) aret Bryst &1 omell & #Fea—fa=gall & 9+ aTel B3]l &1 &5thet S1d BIfY | 3
Find the area of the triangle formed by joining the mid-points of the sides of the triangle whose
vertices are (0, -1), (2, 1) and (0, 3).
ffaRed ARl 35 TRT @) AeReT & (@fera A7) g €1 Sfoud Ay fafy & weg AeRar ) s1a diie: 3
The following table gives the literacy rate (in percentage) of 35 cities. Find the mean literacy rate.

wrear <% (Literacy Rate) (%) 45-55 55-65 65-75 75-85 85-95
TRi @1 @ (No. of cities) 3 10 11 8 3
g I & 6 arer fog 9 g W A 18 Wel 3@l @7 dqrgdl aveER 8kl ¢ | 3
Prove that the lengths of tangents drawn from an external point to a circle are equal.
gvs (<) /Section-D
g TR T X + 3y = 6 T 2X - 3y = 12 31 meiRay fAfy | g BN | 4
Solve the following pair of linear equations x + 3y =6 and 2x - 3y = 12 with graphically method.

Ie@r / or

g FfaRr g X —y + 1 =0 Tem 3X + 2y — 12 = 0 &7 oy fafy & g g |
Solve the following pair of linear equations x -y + 1 =0 and 3x + 2y —12 = 0 with graphically method.
1 —sinA
1+ sinA

JEr / or
Rig #fw (Prove that) —  (sin A + cosec A)? + (cos A + sec A)® = 7 + tan®A + Cot’A
frferiaa ARl {5 eregeTer ® v a9y af # st gy At @ ong @r <@ & | SWRIad Nidst &
A g gD Sd DIIY | 4
The following table shows the ages of the patients admitted in a hospital during a year, Find the
Mode and Mean of the data.

g @ifsre (Prove that) — = SecA + tanA 4

amg (Age) Tt % 5-15 15-25 25-35 35-45 | 45-55 | 55-65
Al @1 "= (No. of patients) 6 11 21 23 14 5
3@t /or

Fr=IfetRad offerel &1 wedd 525 2| A IRATRATAT BT ANT 100 &, AT X 3R Y BT A4 ST DI |
The median of the following data is 525. Find the values of x and vy, if the total frequency is 100.

af interva(l():lass 0-100 100-200 | 200-300 | 300-400 | 400-500 | 500-600 | 600-700 | 700-800 | 800-900 | 900-1000
T=rar (Frequency) 2 5 12 X 17 20 y 9 7 4
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